More practice with quadratic equations

| - | | | | |
|---|------------|-----|---------|-----|
| | 0 00 0 0 7 | 0.0 | h outre | |
| | I UIII asz | _ e | TUVVS | N I |
| | | _ | | |
| | | | | |

э

Image: A matrix

I will repeat what was said on the previous presentation - start solving quadratic by trying to factorize, if it doesn't work in few seconds, then switch either to completing the square or quadratic formula. The later two methods will always work if there are solutions, but are much slower.

< □ > < □ > < □ > < □ > < □ > < □ >

I will repeat what was said on the previous presentation - start solving quadratic by trying to factorize, if it doesn't work in few seconds, then switch either to completing the square or quadratic formula. The later two methods will always work if there are solutions, but are much slower.

Remember that when we use factorization or quadratic formula we need to have 0 on one side of the equation!

Solve:

$$x^2 + 2x = 8$$

| 0.000.007 | h outre | |
|-----------|---------|------------|
| TOTAS/ | | N I |
| 10111002 | | |
| | | |

Solve:

$$x^2 + 2x = 8$$

First subtract 8 to get:

$$x^2 + 2x - 8 = 0$$

| _ | | |
|------------|------------|--|
| 0 00 0 0 7 | achowich | |
| TOTTASZ 1 | | |
| | 2001101101 | |

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

Solve:

$$x^2 + 2x = 8$$

First subtract 8 to get:

$$x^2 + 2x - 8 = 0$$

Now we can use factorization:

イロト イヨト イヨト イヨト

Solve:

$$x^2 + 2x = 8$$

First subtract 8 to get:

$$x^2 + 2x - 8 = 0$$

Now we can use factorization:

$$(x-2)(x+4)=0$$

so x = 2 or x = -4.

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

Solve:

$$x^2 + 6x + 2 = 0$$

| 0 00 0 0 7 | | DOM NO | |
|------------|---|--------|--|
| TOTAS/ | | | |
| 10111002 | _ | | |

Solve:

$$x^2 + 6x + 2 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula:

3

Solve:

$$x^2 + 6x + 2 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula:

$$\Delta = b^2 - 4ac$$

We have a = 1, b = 6 and c = 2, so:

3

Solve:

$$x^2 + 6x + 2 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula:

$$\Delta = b^2 - 4ac$$

We have a = 1, b = 6 and c = 2, so:

$$\Delta = 6^2 - 4(1)(2) = 28$$

3

Solve:

$$x^2 + 6x + 2 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula:

$$\Delta = b^2 - 4ac$$

We have a = 1, b = 6 and c = 2, so:

$$\Delta = 6^2 - 4(1)(2) = 28$$

Now we have:

$$x = \frac{-b \pm \sqrt{\Delta}}{2a}$$

Tomasz Lechowski

3

Solve:

$$x^2 + 6x + 2 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula:

$$\Delta = b^2 - 4ac$$

We have a = 1, b = 6 and c = 2, so:

$$\Delta = 6^2 - 4(1)(2) = 28$$

Now we have:

$$x = \frac{-b \pm \sqrt{\Delta}}{2a}$$

SO:

$$x = \frac{-6 \pm \sqrt{28}}{2} = -3 \pm \sqrt{7}$$

Tomasz Lechowski

3

イロト イポト イヨト イヨト

So the two solution to the equation

$$x^2 + 6x + 2 = 0$$

are $x = -3 + \sqrt{7}$ or $x = -3 - \sqrt{7}$.

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

Solve:

$$x^2 - 2x + 7 = 0$$

| - | | |
|---|---|---------|
| | | |
| | | |
| | | 100 561 |
| | _ | |
| | | |

Solve:

$$x^2 - 2x + 7 = 0$$

We try to factorize, but it doesn't work, so we will try quadratic formula again:

3

イロト イポト イヨト イヨト

Solve:

$$x^2 - 2x + 7 = 0$$

We try to factorize, but it doesn't work, so we will try quadratic formula again:

$$\Delta = b^2 - 4ac$$

We have a = 1, b = -2 and c = 7, so:

3

Solve:

$$x^2 - 2x + 7 = 0$$

We try to factorize, but it doesn't work, so we will try quadratic formula again:

$$\Delta = b^2 - 4ac$$

We have a = 1, b = -2 and c = 7, so:

$$\Delta = (-2)^2 - 4(1)(7) = -24$$

3

Solve:

$$x^2 - 2x + 7 = 0$$

We try to factorize, but it doesn't work, so we will try quadratic formula again:

$$\Delta = b^2 - 4ac$$

We have a = 1, b = -2 and c = 7, so:

$$\Delta = (-2)^2 - 4(1)(7) = -24$$

We have $\Delta < 0$, so there are no real solutions to the above equation.

Solve:

$$x^2 + 8x + 15 = 0$$

Solve:

$$x^2 + 8x + 15 = 0$$

We try to factorize and it works great:

| 0.000.007 | h outre | |
|-----------|---------|------------|
| TOTAS/ | | N I |
| 10111002 | | |
| | | |

3

<ロト < 四ト < 三ト < 三ト

Solve:

$$x^2 + 8x + 15 = 0$$

We try to factorize and it works great:

$$(x+3)(x+5)=0$$

so x = -3 or x = -5.

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

Solve:

$$2x^2 + 4x + 1 = 0$$

| 0.000.007 | h outre | |
|-----------|---------|------------|
| TOTAS/ | | N I |
| 10111002 | | |
| | | |

Solve:

$$2x^2 + 4x + 1 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula:

3

Solve:

$$2x^2 + 4x + 1 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula: We have a = 2, b = 4 and c = 1, so:

3

Solve:

$$2x^2 + 4x + 1 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula: We have a = 2, b = 4 and c = 1, so:

$$\Delta = 4^2 - 4(2)(1) = 8$$

3

Solve:

$$2x^2 + 4x + 1 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula: We have a = 2, b = 4 and c = 1, so:

$$\Delta = 4^2 - 4(2)(1) = 8$$

so using the quadratic formula we get:

$$x = \frac{-4 \pm \sqrt{8}}{4} = -1 \pm \frac{\sqrt{2}}{2}$$

イロト イポト イヨト イヨト

Solve:

$$2x^2 + 4x + 1 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula: We have a = 2, b = 4 and c = 1, so:

$$\Delta = 4^2 - 4(2)(1) = 8$$

so using the quadratic formula we get:

$$x = \frac{-4 \pm \sqrt{8}}{4} = -1 \pm \frac{\sqrt{2}}{2}$$

The two solutions to the given equation are $x = -1 + \frac{\sqrt{2}}{2}$ or

$$x = -1 - \frac{\sqrt{2}}{2}.$$

< □ > < □ > < □ > < □ > < □ > < □ >

Solve:

$$x^2 = 2x + 15$$

| 0 00 0 0 7 | | DOM NO | |
|------------|---|--------|--|
| LULUASZ. | | | |
| | _ | | |
| | | | |

Solve:

$$x^2 = 2x + 15$$

We first move all terms to one side:

$$x^2 - 2x - 15 = 0$$

| TOTAL ST | | |
|----------|------|--|
| TOTTUSE | 1000 | |
| | | |

3

<ロト < 四ト < 三ト < 三ト

Solve:

$$x^2 = 2x + 15$$

We first move all terms to one side:

$$x^2-2x-15=0$$

Now we factorize:

| - | | |
|---------|------------|-----|
| 000007 | O C D OVVC | |
| TOHIASZ | echovys | × I |
| | | |

2

<ロト < 四ト < 三ト < 三ト

Solve:

$$x^2 = 2x + 15$$

We first move all terms to one side:

$$x^2-2x-15=0$$

Now we factorize:

$$(x+3)(x-5)=0$$

so x = -3 or x = 5.

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

Solve:

$$2x^2 + 5x = 12$$

| _ | | | |
|---|--|------|--|
| | | | |
| | | | |
| | | 1000 | |
| | | | |

Solve:

$$2x^2 + 5x = 12$$

We first move all terms to one side:

$$2x^2 + 5x - 12 = 0$$

| 0.000.007 | h outre | |
|-----------|---------|------------|
| TOTAS/ | | N I |
| 10111002 | | |
| | | |

3

<ロト < 四ト < 三ト < 三ト

Solve:

$$2x^2 + 5x = 12$$

We first move all terms to one side:

$$2x^2 + 5x - 12 = 0$$

Now we try factorization:

| Tom | 007 | | hours | 14 |
|------|------|------|-------|----|
| 1011 | IdSZ | Leci | IOvvs | ĸι |

æ

イロト イヨト イヨト イヨト

Solve:

$$2x^2 + 5x = 12$$

We first move all terms to one side:

$$2x^2 + 5x - 12 = 0$$

Now we try factorization:

$$(2x-3)(x+4)=0$$

so $x = \frac{3}{2}$ or x = -4.

イロト 不得 トイヨト イヨト 二日

Solve:

$$5x^2 = 6x$$

| - | | |
|---|---|---------|
| | | |
| | | |
| | | 100 561 |
| | _ | |
| | | |

Solve:

$$5x^2 = 6x$$

We move all terms to one side:

$$5x^2 - 6x = 0$$

| 0 00 0 0 7 | achowic | |
|------------|----------|------------|
| TOHIASZ | Lechovsi | ч т |
| | | |

2

<ロト < 四ト < 三ト < 三ト

Solve:

$$5x^2 = 6x$$

We move all terms to one side:

$$5x^2 - 6x = 0$$

We factorize:

| Tomasz | echows | Zi. |
|----------|----------|-----|
| 10111032 | Lections | |

3

Solve:

$$5x^2 = 6x$$

We move all terms to one side:

$$5x^2 - 6x = 0$$

We factorize:

$$x(5x-6)=0$$

so x = 0 or $x = \frac{6}{5}$.

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

Solve:

$$x^2 + 4x + 4 = 0$$

Solve:

$$x^2 + 4x + 4 = 0$$

We use factorization:

| - | | |
|---|---|---------|
| | | |
| | | |
| | | 100 501 |
| | _ | |
| | | |

3

<ロト < 四ト < 三ト < 三ト

Solve:

$$x^2 + 4x + 4 = 0$$

We use factorization:

$$(x+2)^2=0$$

so x = -2.

▲□▶ ▲圖▶ ▲ 圖▶ ▲ 圖▶ ― 圖 … のへで

Solve:

$$2x^2 - x + 1 = 0$$

| - | | |
|---|---|---------|
| | | |
| | | |
| | | 100 501 |
| | _ | |
| | | |

Solve:

$$2x^2 - x + 1 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula:

3

イロト イヨト イヨト イヨト

Solve:

$$2x^2 - x + 1 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula: We have a = 2, b = -1 and c = 1, so:

3

イロト イポト イヨト イヨト

Solve:

$$2x^2 - x + 1 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula: We have a = 2, b = -1 and c = 1, so:

$$\Delta = (-1)^2 - 4(2)(1) = -7$$

3

イロト イポト イヨト イヨト

Solve:

$$2x^2 - x + 1 = 0$$

We try to factorize, but it doesn't work, so we will use quadratic formula: We have a = 2, b = -1 and c = 1, so:

$$\Delta = (-1)^2 - 4(2)(1) = -7$$

We have $\Delta < 0$, so there are no real solutions to the above equation.

< □ > < □ > < □ > < □ > < □ > < □ >

We will do the last three examples using "completing the square" method, so that you won't forget it. It is important as we will use it again for a different purpose when we will study quadratic functions.

< □ > < 同 > < 三 > < 三 >

Solve

$$x^2 + 8x + 2 = 0$$

| - | | | | |
|---|------------|---|--------|--|
| | 0 00 0 0 7 | | DOM NO | |
| | LUILIASZ. | | | |
| | | _ | | |
| | | | | |

Solve

$$x^2 + 8x + 2 = 0$$

We complete the square by rewriting the left hand side as:

$$(x+4)^2 - 14 = 0$$

| 0 00 0 0 7 | achouve | |
|------------|----------|------------|
| TOHIASZ | Lechovys | N I |
| | | |

æ

イロト イポト イヨト イヨト

Solve

$$x^2 + 8x + 2 = 0$$

We complete the square by rewriting the left hand side as:

$$(x+4)^2 - 14 = 0$$

Now we solve:

$$(x+4)^2 = 14$$

 $x+4 = \sqrt{14}$ or $x+4 = -\sqrt{14}$
 $x = -4 + \sqrt{14}$ or $x = -4 - \sqrt{14}$

3

・ロト ・四ト ・ヨト ・ヨト

Solve

$$2x^2 + 6x + 2 = 0$$

| 0 00 0 0 7 | achowic | |
|------------|----------|------------|
| TOHIASZ | Lechovsi | ч т |
| | | |

Solve

$$2x^2 + 6x + 2 = 0$$

We divide by 2 to get:

$$x^2 + 3x + 1 = 0$$

| | 1000 | ~ |
|--|------|---|
| | | |

- 2

Solve

$$2x^2 + 6x + 2 = 0$$

We divide by 2 to get:

$$x^2 + 3x + 1 = 0$$

Now we complete the square by rewriting the left hand side as:

$$\left(x+\frac{3}{2}\right)^2-\frac{5}{4}=0$$

- 20

・ロト ・四ト ・ヨト ・ヨト

Solve

$$2x^2 + 6x + 2 = 0$$

We divide by 2 to get:

$$x^2 + 3x + 1 = 0$$

Now we complete the square by rewriting the left hand side as:

$$\left(x+\frac{3}{2}\right)^2-\frac{5}{4}=0$$

Now we solve:

$$\left(x + \frac{3}{2}\right)^2 = \frac{5}{4}$$

$$x + \frac{3}{2} = \frac{\sqrt{5}}{2} \quad \text{or} \quad x + \frac{3}{2} = -\frac{\sqrt{5}}{2}$$

$$x = \frac{-3 + \sqrt{5}}{2} \quad \text{or} \quad x = \frac{-3 - \sqrt{5}}{\sqrt{2}}$$

Solve

$$x^2 + 4x + 9 = 0$$

Solve

$$x^2 + 4x + 9 = 0$$

W complete the square by rewriting the left hand side as:

$$(x+2)^2+5=0$$

| - | | |
|---------|------------|-----|
| 000007 | O C D OVVC | |
| TOHIASZ | echovys | × I |
| | | |

2

イロト イヨト イヨト イヨト

Solve

$$x^2 + 4x + 9 = 0$$

W complete the square by rewriting the left hand side as:

$$(x+2)^2+5=0$$

Now we try to solve:

$$(x+2)^2 = -5$$

But this has no real solution. No real number squared gives a negative number. So the equation has no real solutions.

< □ > < □ > < □ > < □ > < □ > < □ >